
  



 

 

 



 

 



 

   

   
   

   
   

   
   

   
   
   

   
   



 

   

   
   

   
   

 

   

   
   

   
   

 



 

 



 

𝑁𝐻4
+ +

3

2
𝑂2 → 𝑁𝑂2

− + 2𝐻+ +  𝐻2𝑂          𝑁𝐼𝑇𝑅𝑂𝑆𝑂𝑀𝑂𝑁𝐴𝑆 

𝑁𝑂2
− +

1

2
𝑂2 → 𝑁𝑂3

−          𝑁𝐼𝑇𝑅𝑂𝐵𝐴𝐶𝑇𝐸𝑅 

𝑁𝐻4
+ + 2𝑂2 → 𝑁𝑂3

− + 2𝐻+ +  𝐻2𝑂 

 

 

 



 

𝑁𝑂3
− + 𝐶𝑂𝐷 → 𝑁2 + 𝐻𝐶𝑂3

− + 𝐻2

 

 



 

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑹𝒂𝒕𝒆 𝑹𝑻 =
𝑵𝑰𝑵 − 𝑵𝑶𝑼𝑻

𝑵𝑶𝑼𝑻

=
(𝟐𝟓𝟎 𝒙 𝟎, 𝟏𝟗𝟎) − (𝟐𝟓𝟎 𝒙 𝟎, 𝟎𝟏𝟓)

(𝟐𝟓𝟎 𝒙 𝟎, 𝟎𝟏𝟓)
=

𝟒𝟕, 𝟓 − 𝟑, 𝟖

𝟑, 𝟖
= 𝟏𝟏, 𝟓𝟎

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑭𝒍𝒐𝒘𝒓𝒂𝒕𝒆 = 𝑹𝑻 𝒙 𝑸 = 𝟏𝟏, 𝟓𝟎 𝒙 𝟐𝟓𝟎 = 𝟐. 𝟖𝟕𝟓 𝒎𝟑/𝒉 

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑹𝒂𝒕𝒆 𝑹𝑻 =
𝑵𝑰𝑵 − 𝑵𝑶𝑼𝑻

𝑵𝑶𝑼𝑻

=
(𝟏𝟗𝟎 𝒙 𝟎, 𝟏𝟗𝟎) − (𝟏𝟗𝟎 𝒙 𝟎, 𝟎𝟑𝟎)

(𝟏𝟗𝟎 𝒙 𝟎, 𝟎𝟑𝟎)
=

𝟑𝟔. 𝟏 𝑲𝒈 − 𝟓, 𝟕 𝑲𝒈

𝟓, 𝟕 𝑲𝒈
= 𝟓, 𝟑𝟑 

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑭𝒍𝒐𝒘𝒓𝒂𝒕𝒆 = 𝑹𝑻 𝒙 𝑸 = 𝟓, 𝟑𝟑 𝒙 𝟏𝟖𝟎 = 𝟗𝟓𝟗 𝒎𝟑/𝒉 

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑹𝒂𝒕𝒆 𝑹𝑻 =
𝑵𝑰𝑵 − 𝑵𝑶𝑼𝑻

𝑵𝑶𝑼𝑻

=
((𝟔𝟎 𝒙 𝟎, 𝟏𝟗𝟎) + (𝟏𝟗𝟎 𝒙 𝟎, 𝟎𝟑𝟎) − (𝟐𝟓𝟎 𝒙 𝟎, 𝟎𝟏𝟓)

(𝟐𝟓𝟎 𝒙 𝟎, 𝟎𝟏𝟓)
=

𝟏𝟕, 𝟏 − 𝟑, 𝟖

𝟑, 𝟖
= 𝟑, 𝟓𝟎 

𝑹𝒆𝒄𝒚𝒄𝒍𝒆 𝑭𝒍𝒐𝒘𝒓𝒂𝒕𝒆 = 𝑹𝑻 𝒙 𝑸 = 𝟑, 𝟓𝟎 𝒙 𝟐𝟓𝟎 = 𝟖𝟕𝟓 𝒎𝟑/𝒉 
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https://www.msc.org/media-centre/press-releases/seafood-consumers-put-sustainability-before-price-and-brand
https://www.msc.org/media-centre/press-releases/seafood-consumers-put-sustainability-before-price-and-brand

